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Read the instructions and do as directed. 

I) Read the questions carefully. Solve them if required and then circle the correct 

answer. 

1) By how much is 45,000 greater than 44,990? 

    (a) 1,110  (b) 110  (c) 100  (d) 10 

2) What number should be added to the greatest six-digit number to get the smallest seven-digit 

number? 

    (a) 1   (b) 10   (c) 100   (d) 1000 

3) What is the difference between the number that comes just before 710 and the number that 

comes just after 710? 

    (a) 700  (b) 100  (c) 2   (d) 1 

4) 100 less than 24,100 is  

    (a) 24,010             (b) 24,000  (c) 24,001  (d) 23,000  

II) Read the story sums below and identify the operation you should use to find 

the correct answer. Put the correct sign (+ or –) in the box. 

1) Adopt a Tree campaign was held in a town last year on World Environment Day. On the 

first day of the campaign, 23,512 trees were adopted and on the second day, 25,240 trees 

were adopted. How many trees were adopted in two days?  

2) Riya bought a Smart TV for ₹ 45,550 and a refrigerator for ₹ 24,900. How much more did 

she pay for the Smart TV than the refrigerator? 

3) Ramesh earns ₹ 75,000 per month and spends ₹ 44,000 on his monthly expenses. How 

much money does he save? 
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III) Fill in the missing digits.  

 

IV) Solve the word problems given below. 

1) A large library lent out 17,985 books in a month. If it has 54,112 books left, how many 

books does the library have in all? 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

 

2) A company produced 34,780 erasers in a year. If 22,567 erasers were sold out, how many 

were left unsold? 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

   __________________________________________________________________________ 

 


